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Question 1.

John Smith was recently hired as a financial analyst by Brickley
Electronics, a manufacturer of electronic calculators. His first task was
to conduct a financial analysis of the firm covering the last two years.
To begin, he gathered the following financial statements and other data.

BALANCE SHEETS , 19x2 19x1
E x000 & x000
Assets:
Current assets:
Cash 1200.00 2 350.00
Accounts receivable 6 000,00 4 000.00
Inventories 8 000.00 10 000.00
Prepaid expenses 300.00 120.00
Total current assets 15 500.00 16 470.00
Fixed assets
Land 4000.00 4000.00
Buildings and equipment 12000.00 8500.00
Tota fixed assets 16000.00 12500.00
Total assets 31500.00  28970.00
Liabilities and Equity:
Current liabilities:
Accounts payabls 5 800.00 4 000.00
Notes payable 300.00 £600.00
Accruals 900.00 430,00
Total current liabilities 7 000.00 5 000.00
Long term liabilities
Long-term debt 7 600.00 8 000.00
Total liabilities 14 500.00 13 000.00
Equity: '
Stock 8 000.00 8 000.00
Paid in capital 1 000.00 1000.00
Total paid in capital ' 9 000.00 9 000.00
Retained earnings 8 000.00 6 970.00
Total equity ~ 17 000.00 15 970.00
Total liabilities and equity 31 500.00 28 970.00

INCOME STATEMENTS

Sales 52 000.00 48 000.00
Cost of goods sold 36 000.00 31 000.00
Gross margin 16 000.00 17 000.00
Qperating expenses:

Selling expenses 7 000.00 6 500.00

Administrative expenses 5 880.00 6 100.00
Total operating expenses 12 860.00 12 600.00
Net operating income (EBIT) 3 140.00 3900.00
Interest expense 640.00 700.00
Net income before taxes 2 500.00 3200.00
Income taxes (30%} 750.00 960.00
Net income {or netprofit margin) 1 750.00 2 240.00
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Assume that you are John Smith's assistant, and that

he has asked you to help him prepare a report which
evaluates the company's financial condition. Then answer
the following questions.

a. What is the purpose of financial ratio analysis, and what
are the five major categories of ratios?

b. What are Brickley Electronics' current and quick ratios? What do
they tell you about the company's liquidity position?

c. What are Brickley Electronics' inventory turnover, days sales

outstanding, and total assets turnover ratios?
What do these ratios suggest about the company's financial affairs?

d. What are the firm's debt and times-interest-earned ratios?
What can you say about the company's leverage?
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Question 2

(NPV and payback analysis) Perot Industries has E100 000.00 to invest.
The company is trying to decide between two alfernative uses of funds. The

alternatives are:

Expected Net Cash Flow

Year

AW =0

Project A

-E 100 000.00
E 21 000.00
E 21 000.00
E 21 000.00
£ 21000.00
£ 21000.00
E 29 000.00

a) Name the 5 methods for appraising projects and their advantages

b) Calculate the payback period for each project

c) At 14% cost of capital calculate the NPV of each project

d) At 8% cost of capital calculate the NPV of each project

e} Which project would you choose and why?
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Project B

-E 100 000.00
E 16 000.00
E 16 000.00
E 16 000.00
E 16 000.00
E 16 000.00
E 16 000.00

{ 5 marks)
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Question 3

Northwood Company manufactures basketballs. The company has a standard ball
that sells at E25.00. At present, the standard ball is manufactured in a small plant
that refies heavily on direct labour workers. Thus, variable costs are high, totalling
E15.00 per ball. Last year, the company sold 30,000 balls, with the following results:

Per ball
Sales (30 000 standard balls)........ .....................  E750000.00 E25.00
Less variable expenses:..........oooes veevreve oo B2 450 000.00 E 15.00
Contribution margin.......c.ocvevieves vereeevineiienen.., £300 000.00 E 10.00
Less fixed expenses e eiiiii e, E210 000.00
Net Income vveveriiiii.. E90000.00

a) Calculate the CM ratio and break- even point

by If variable costs per ball increase by E3.00, what will the new CM and Break-even
point?

c) Refer to b) above. If the expected change in variale costs takes place, how many
balls will have to be sold next year to earn the same net income (E90 000.00}
as last year?

d) Refer again to b) above.The company is considering automating the plant.
This automation woulid reduce the variable costs per ball by 40%, but would double
the fixed costs (E420 000). What would be the new CM ratio and break-even point?
Would you approve the automation and why?

e) Refer to d) above. If the new plant is built, how many balls will have to be
sold to maintain the net income of E90 000.00
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Qluestion 4

a) Define Cost-Benefit Analysis (CBA)

b) What can we use Cost-Benefit Analysis for?

c} Your community wishes to construct a dam in your area. How can you use the
Cost-Benefit Analysis to illustrate to the community whether this is worthwhile

project to embark on?

d) Briefly discuss one way we can measure the Cost- Benefit of a project.
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Question 5

In arganisations, Groups are increasingly being used as an effective means for
attaining organisational goals. The context, people, task requirements, formal
organisation and group culture are key elements we need to analyse to
understand a group's output. Under each one of the five, list four factors we have

to look at while analysing performance. (20 marks)
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Question 6

a. Define Management. { 4marks)
b. What are the four functions of management? { 4marks)
c. Under each of the four functions state, state 3 things that are involved. (12 marks)
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APPERDIX TABLE 1

Discount factors: Present value of $1 to be received after t years = 1/(1 + 1)

ZE/ENAT VALUE TABLL/

Interest Rate per Year

Number
of Years 1% 2% 3% 4% 5% &% 7% 8% 9% 10% 1% 12%  13% 4% 15%
"1 U990 980 - 971 . 962 952 - 943 935 926 917 909 901 893 B8  .B77 87O
2 980 9a1 943 925 907 .B90  B73 857 . 842 - 826" .-.812 797 . .7BI . 769 756
3 971 . 942. 915 889  .8s4  BAD 816 794 772 751 731 7iZ .. 693 675 658
4 961 924 ..B88 -.855 823 792 763 735 JOB - 683 - 4659 636 . .613. 592 572
5 951 906 . .863. .B22Z . .7B4 747 713, 681 650 . (621 593 . 567 543 519 497
é 942 888 837 790  FA6  JO5 666 630 596 564 535 507  4BC 456 432
7 933 871 813 760 711 665 623 583 547 513 482 452 425 400 376
8 923 853 789 731 477 .627 582 540 502 467 434 404 376 35t 327
9 914 83T 766 703 645 S92 544 500 460 424 397 361 333 308 284
10 905 820 744 676 614 .S58 508 463 422 3§ 352 322 295 270 247
1 896 804 y22 - 650 585 527 475 429 388 350 317 .287 261 237 215
12 887 788 .70t 625 ..557 - .497 . .444 . 397 . 356 . 319 - 286 257 231 208 187
13, 879 773 .6B% L 601 530 469 M5 (368 . 326 290 258 229 204 182 163
14 B70° 758, 461 577 0 .505. 442 388 340 . 299 ..263 . .23z 205 81 60 141
15 861 743 642 USES 481 417 BT A5 2750239 0200 U183 1600 .40 123
16 853 728 623 534 458 394 .33% 292 252 218 188 .163 141 123 .07
17 844 714 405 513 436 371 317 2700 231 9B 170 146 126 108 093
18 836 .00 587 494 416 350 296 250 212 180 153 930 411 095 081
19 828 686 570 475 3% 331 277 Z32 .94 164 138 .16 098 083 070
20 820 673 554 .4s6  3¥7 312 258 215 .78 149 124 104 0BT 073 061

Interest Rate per Year

Number
of Years  16% 17% 18% 19% 20% 21% 22% 23% 24% 25% 26% 27% 28% 29% 30%
1 862 855 847 . 840 833~ 826 - .B20  .B13 ..BO6. 0 .B00.  y94 787 [ . 781 ..775 769
2. 743 0 731 M8 06 694 6B3: 672 661 650 U N6A0- - 630, (1620 810 6017 592
.3 441 624 609 593 579 544 551 537 524 512 7O 500 © 488 477 466 455
4 552 534 516 499 482 467 451 437 - 423 410 397 384 - 1373 361 350
5 476 456 437 M9 402 386 370 355 341 . 328 - 315 303 .291 280 .29
6 410 390 370 352 335 319 303 289 275 262 250 .23 227 217 207
7 354 333 314 296 279 263 249 235 222 210 198 .18 478 168 139
8 205 285 266 249 233 218 .204 191 479 a8 157 148 43 130 423
9 263 243 225 209 194 80 167 55 44 134 125 416 108 101 094
10 227 208 91 76 62 449 137 A26 16 107 099 092 085 078 073
M0 95 9B 162 148 1135 - 4230 112 03 0% 086 079 072 066 061 058
Sz 6B A2 0 437 24 12 02 092 083 076 069 0627 G570 052 047 043
13 A45 0 930 - 416 404 093 084 075 068 . 061 ..055 050 046 - 040 - 037 033
14 0 425 10 099 088 078 069 062 . 055 . 049 . 044 039 035 1 ..032 ..028 025
15108 095 .084. 074 -.065 057 051 045 040 - 1035 031 028 025 022 020
6 093 081 G710 Q62 054 047 042 03¢ 032 028 025 022 019 017 015
17 080 069 060 052 045 039 03¢ 030 026 023 020 017 015 013 .02
18 069 059 .51 04a D033 .03z 028 024 021 D18 16 014 012 01 009
9 060 051 .43 037 031 027 023 020 017 014 012 011 009 008  .007
20 051 043 037 031 O0ze 022 019 016 014 012 010 008 .007 006 .00

Mote: For example, if the interest rate is 10 percant per year, the presect value of $7 received at year 5 is $.621.




